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4.4 confined compression test

Unconfined compression  test
Unconfined compression test

' 4.30
a -
431
Clv
e 4_ - 7777477777 /',' i '£| "
___________ orsss00277] N
___________ Vrsssisrsos !
..--_.-::—.—::-.'.-: ....... //////l;/// 1 ! 1 ! 1 |:| ! 1 !
___________ Vorriihrssss i
‘‘‘‘‘‘‘‘‘‘‘ Vorrfoctrsss iy
___________ Vplrsississ HHMHE
[ Locecces HHKHE
a-= a=a a=%
431 a Unconfined compression test
4,32 Unconfined compressive strength, qu
(00 qu a =0 a
a 30
a =90 qu a 30
4.33 quX quoe Polar plot

drained shear strength(qua=0quCu) 4.33 1.54



Vertical stress, ksc.

Axial Strain, %
0.000 2.000 4,000 6.000 8.000 10.000 12.000 14.000 16.000

0.450 +—— ~ ]
Ov i

1.7y I W) 1Y 1) E a/ L
; AAM A 00 F '

0350 - A Bl a0l !
a YN R S K X /4 — v
E xxﬁénx)-:'*""h §W*++++++++++++++++ |

0.300 L ~ N T T e |

0.250 " }

000000000000000000006699¢Q

0.200

0.150 -

0.100

0.050

0.000

O 15 Deg A 30 Deg © 60 Deg X 75 Deg + 90 Deg

430 stress-strain curve



confined compressive strength, qu

0.250

0.200

IS0 ==

0.100

0.050 T *"

0.000

g‘ﬂﬁ 4.32 AMUnconfined compressive strength“luszmwhmmmﬁumnu.uﬁﬂa



82

100 ¢

T
o
©

“ —

b

o
4
Bapo6=2, n
('b)

20

90deg

(@),

433



83

4.34 ' ED 1 a £D  Young’s
10<3 1 Vertical stressé confined compressive strength(qu)
£9 1 100 300 £9 1
Deformation analysis! Principal stresse £ 1

Principal stress £9 1
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4.5 Cosolidation test
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